
Universal harddisc recorder bracket

0370-0300
Version Date: 15-10-2012 11:12

Vocas Systems b.v. info@vocas.com www.vocas.com

Item No. Part Number Qty Description
1 04.100.02 1 L bracket with rozette
2 04.007.01 2 Nut M5 DIN 557 A2
3 768001 2 Screw M5x16 DIN 912 A2 70
4 09.075.01 1 Winged nut M6 II
5 04.106.01 1 Retaining ring M6
6 09.039.01 1 Screw DIN 913-M6X25-45H A2A
7 09.036.02 1 Ring DIN 125B 6,4 X 12 Mess Ni

8 02.079.01 1 Hex. key 2mm. Unbrako DIN 911 kort
9 02.038.01 1 Hex. key 2.5 mm
10 773001 1 Hex. key 3mm. Unbrako DIN 911 kort
11 04.004.02 1 Clamper mkII SG
12 05.002.01 1 Clamp bolt short
13 769001 1 Pin 2h6X10 ISO8734 st
14 764001 1 Clamp nut
15 04.105.02 1 15mm bracket for recorder bracket
16 04.101.01 1 Universal HD recorder plate

17 04.102.01 2 Attachment pin
18 02.024.01 2 Screw M3x10 DIN 912 8.8 st zn Z
19 04.103.01 4 Locator pin 3mm (based on M4x12 DIN 912 ...
20 02.007.02 2 Camera screw 1/4 UNC"
21 04.104.01 4 Screw M2,5X5 DIN912 Unbrako 12.9 Zn
22 774002 1 Unbrako DIN911 4 kort

8

19

21

17

21

17

18

19

19

14

21

15

19

12

13

11

2

2

5

1

21

3

6

7

18

3

16

9

10

22

20

4


